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am Thursday after
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Red : we were solving

r2f" lrltrf 'Htqr2fH=O

we supposed
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Since a
" polynomial

"
is

zero only if all coefficients

are Zero ,
we get
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( second equation ,

n=3 )

So

993=0
, 93=0

.



( 2
'd
equation ,

n=5 )

2595 - 493=0 ,
but

az=0 ,
so

2595=0 and 95=0 .

Using recursion ,

an=Ofornodd€



for the remainder of the

Coefficients , n=2k for

4=1,2 ,
3
,

- - ( n event

and we can choose any

value for Go since it

does not appear in the sum

other than through recursion .
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